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QUESTION 1

An IT organization has hired you as a cloud architect to assist them in planning for cloud services. Your first goal is to
help the IT organization categorize existing services against service characteristics. You have provided a table that
shows common service characteristics and their attributes for considerations, benefits, and trade-offs.

The following attributes from the table have been identified:

Consideration: bundling services increases complexity Benefit: replaceable components, improved recovery from failure
Trade off: very finite capability

What characteristics correspond to the identified attributes?
A. Discoverable, Composable, and Idempotent

B. Discoverable, Reusable, and Autonomy

C. Composable, Loosely Coupled, and Autonomy

D. Idempotent, Loosely Coupled, and Reusable

Correct Answer: C

QUESTION 2

You have been asked by a company to help drive IT efficiency, focusing specifically on direct, short-term activities. What
would you recommend?

A. Begin development of a self-service portal for the business to develop and deploy applications

B. Attempt to consolidate vendors of hardware and software running in the environment by simplifying workloads

C. Identify applications with workloads that run infrequently or that require boutique services for migration to the cloud
D. Initiate a cloud comparison initiative to compare the price of competing cloud alternatives

Correct Answer: B

QUESTION 3

Your company requires a service funding model that will allow it to make short term spending decisions as part of an
incremental strategic spending program. Which funding model should you recommend?

A. Central
B. Usage

C. Project
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D. Hybrid

Correct Answer: C

QUESTION 4

DRAG DROP

A company has an on-demand self-service portal. What is the most likely sequence of events in the service catalog

when an laaS service is provisioned?

Select and Place:

Answer Area

Interacts with integrated orchestration
mechanism

Allocates resources and triggers creation
of the service

Web-based catalog lists available services
and options

Issues chargeback statement

Correct Answer:
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Answer Area

Web-based catalog lists available services

and options

Allocates resources and triggers creation

of the service

Interacts with integrated orchestration

mechanism

Issues chargeback statement

QUESTION 5

You have been asked by a recently formed DevOps team to qualify the principles for Continuous Delivery. Which

method falls outside the practice of continuous delivery?
A. Use component-based architecture

B. Tie code releases to operational constraints

C. Automate the delivery pipeline

D. Deploy smaller code segments more often

Correct Answer: B
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